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§. “Cocoa prices for September delivery on the ICE Futures U.S. exchange seftled at $3,260 a
metric ton on Friday, up 12% in 2015.” (WS5J6/20/15). World output of cocoa has declined
from 4.36 million meiric tons to 4.23 million metric tons between 2014 and 2015,

(a) (ﬁ pts.) Calculate own-price elasticity of demand for cocoa. ‘
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(b) (@pts.) Knowing what you do about factors affecting own-price elasticity of demand, can you
think of any reasons why you got a number like you did?
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&.. We own and operatc a Johnny Jim’s sandwich shop. After some experimentation with our
current configuration of the restaurant, we find that Jabor and output vary in the following way:

Labor (person- 0 1 2 3 4 5 6 7 8 j
howurs)

Output (meals 0 12 32 64 50 105 115 120 122
per hour)

(a) S pts.) Use the concept of marginal product to explain at what point diminishing refurns set in.
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{b) (ﬁ pts.) Total compensation costs (wages plus benefits) per worker are $10 per hour, The only
~ other variable costs besides labor are the sandwich ingredients, which cost a constant $.50 per
sandwich, Plot eight points on our firm’s average variable cost curve.

g kbl ziriatgl el 2
] | el 134 lea | 90 sslos bize) 122
tvel ¥l 134 62 ®s faz.ﬁ"lfﬂ.'iki%a retk
abe | \3| ] )94 i-ﬂgﬂljﬁzh.o? {-1¢

Lo N

Liad . .
fr.ga i PN Tve= L g0 t

! N .\U ? : €. 56 * &

:I;o Q&: n@\n. ﬁg@f@ ' E\ .

120 N 2 'ﬂ:", [f € bzl @F f2e, and

B2 “%'; \'?Vk Ve z de Fro 5wtz =
Fleo AT g 5@},@‘ Ave = XS 16 ¢33
40 B e, et & = -

i l - wihan @ =9

9 —

e —
{50 ——

e

-1

20

‘o

i 4 3 —1 3 i £33
N ")_0 3P‘ I op b wb b rm‘uiaqt:,; jie fye
v 3P A q0 165 16




